

03AA 109480

INDIA NON JUDICIAL



PART-IV

FORM OF AFFIDAVIT

BEFORE THE DISTRICT ELECTION OFFICER, KANGPOKPI DISTRICT, MANIPUR

Affidavit of Shri Yamthong Haokip (S/o (Late) Holkhothang Haokip.

I Shri Yamthong Haokip Son of Holkhothang Haokip aged about 60 years Residence of Ekou Mulam Village do hereby solemnly and sincerely state and declare as under:-

- That I was contesting candidate at the general election to the House of the People Legislative Assembly of 12th Manipur General Election from 46-Saikul Parliamentary/Assembly constituency, the result of which was declared on 10th March 2022.
- 2. That I my election agent kept a separate and correct account of all expenditure incurred/authorized by me/my election agent in connection with the above election between 5th February to 10th March 2022 (the date on which I was nominated and the date of declaration of the result thereof, both days inclusive.
- 3. That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- 4. That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred a authorized by me or by my election agent,

Ducey

Oath Commissioner Kangpokpi Manipur, Rega. No.461/2021



- 5. the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election and nothing has been concealed or withheld/suppressed therefrom (other that the expense or travel of leaders' covered by Explanations 1 and 2 under section 77(1) of the Representation of the People Act, 1951)
- 6. That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election.

7. That the statement in the foregoing paragraphs (I) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.

* Deponent

Solemnly affirmed/sworn by 2022 before me.

De's office Jupy at -23/03/2 this day of

(Signature and seal of the Attesting authority, i.e. Magistrate of the first Class or Oath Commission or Notary Public)

olemnly affirm before me on ... by the deponent The cantarant seems to understand

and explained to him/her.

Oath Commissipher Kangpokpi No.461/2021 Regd Manipur.

PART 1: ABSTRACT STATEMENT OF ELECTION EXPENSES

1	Name of the Candidate	Sh. Smt. Km. YAMTHONG HADICIP
11	Number and name of Constituency	46-SAIKUL A/C
111	Name of State Union Territory	MANIPUR
17.	Nature of Election (Please mention whether General Election to State Assembly Lok Sabha Bye- election)	STATE ASSEMBLY
1	Date of declaration of result	10.03.2022
VI	Name and Address of the Election Agent	
VII	If candidate is set up by a political party, Please mention the name of the political party	BJP
7.111	Whether the party is a recognised political party	Yes Xu

Date

Place.

Signature of the Candidate

Name:

PART-II: ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDATE

		CAND	IDATE		
S No.	Particulars	Amt. Incurred Auth by Candidate Election agent(in Rs.)	Amt. Incurred authorized by Pol. Party (in Rs.)	Amt. Incurred authorized by others (in Rs.)	Total Election expenditure (3)+(4)+(5)
1	2	3	4	5	6
E.	Expenses in public meeting, rally, procession etc. La Expenses in public meeting, rally, procession etc. (fe: other than the ones with Star Campaigners of the Political party (Enclose as per Schedule-1). Lib Expenditure in public meeting rally.	479760			479760

Menny

X (Muny

		-			(c) Schedule (s)	
	081911			081911	The second secon	1
	aster1			09:261	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	\1
				m -	through print and electronic media including cable media or internet and Social media in media in ewspapers TV radio channels etc. owned by the political party sponsoring the candidate or by the political party sponsoring the candidate or by the political party sponsoring the candidate (Finclose as per Schedule-4A)	
				58568	media in privately owned now spapers TV radio cie. cie. channels service as per cie. (Enclose as per channels.)	
	52567			0.000	through print and electronic media including cable network, bulk SMS	
) 20N		Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. 1 above(Enclose as per Schedule-3) Schedule-3)	
/	204414			204414	procession etc. with the Campaigner(s) (1e: general party propaganda) (Enclose as per Schedule-2)	

1.7	Any other campaign expenditure		
VII	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)		
V III	VIII Expenses incurred on Virtual Campaign (Enclose as per Schedule 11)	*(
	Grand Lotal	1168021	 1168021

PART III: ABSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE

5 10	Particulars	Amount (in Rs.)
4		
1	Amount of own fund used for the election campaign (I nelose as per Schedule - "). *	25000/
11	Lump sum amount received from the party (ies) in eash or cheque etc. (Unclose as per Schedule -8)	1800000/-2
Ш	Lamp sum amount received from any person company firm associations body of persons etc. as loan, gift or donation etc. (I nelose as per Schedule -9)	, , , , , , , , , , , , , , , , , , ,
	Total	182 50001

X anny

Schedules- 1 to 11: Details of Elections Funds and Expenditure of Candidate

	Jule- 1	ather the street	th Char Commission	the Delivino and A	
No	ses in public meeting, rally, procession etc. (ie	Total Amount	1		
NO	Nature of Expenditure	in Rs.	Amt. incurred / Auth. by Candidate	Amt. incurred / by Pol. Party with name	Amt.
-	-		/ agent	0.000	others
1	Table Comments of the Comments	3	4	5	6
1	Vehicles for transporting visitors	78100			
2	Erecting Stage, Pandal & Furniture, Fixtures, poles etc.	38510			
3	Arches & Barricades etc.	300			
4	Flowers' garlands				
5	Hiring Loud speakers, Microphone, amplifiers, comparers etc.	5000			
6	Posters, hand bills, pamphlets, Banners, Cut-outs, hoardings	79500			
7	Beverages like tea, Water, cold drink, juice etc.	57200			
8	Digital TV poards display, Projector display, tickers boards, 3D display				
q	Expenses on relebrities, payment to musicians, other artists remuneration, etc.				
10	Illumination items like serial lights, boards etc.				
11	Expenses on transport, Helicopter/ aircraft / vehicles/ boats etc. charges (for self, celebrity or any other campaigner other than Star (ampaigner)	M 40%			
1.2	Power consumption/ generator charges	2500			
13	Rent for venue	- 250			
14	Guards & security charges				
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner	4	1		
16	Others expenses	225150			
	Total	479760			
		Schedule- 2			
Ex	penditure in punic meeting rally, procession e thosi	tc. with the Star Camp e for general party pro		ed to candidate (ie	other than
S. No	Date and Venue Name of the Star Campaigner(s) & Name of Party	of procession e	Expenditure on public etc with the Sta the candidate (As oth eta) in Rs.	r Campaigner(s)	any
1	2 3		4		5
			Source of Expenditure		
		Amount by Candidate/Age		Amount by Others	
1 2	23:02:2022 Shai) Amit Shab	414462			
3					-
3					



Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, vides and audio cassettes. CDs. DVDs. Loud speakers, amplifiers, digital TV, board display i, 3 D display etc. for candidate's caction campaign. I will are than those coverige in Schedule, 1 & 2).

s No	failure of Expenses		local Amount in Rs	50	Remarks, if any		
				Amt. By candidate agent	Amt. By Pol. Party	Amt. By others	
1	2		3	4	5	6	7
			4.4	11			
4		-	M				
Total							

Distalls of expenditure on campaign through prim and electronic media including cable network, bulk SMS or Internet or social media measitions for reduce manner of the candidate. The details should include the expenditure incurred on all sort news terms appearing in privately owned newspapers/TV/radio

5 No Nature of medium [electronic print and dutation

(print electronic SMS / voice/ cable TV, social med a etc.

of media provider agency, reporter, stringer, company or any person to whomcharges commission etc. paid payable, if

Name and address. Name and address of - Total Amount in - Sources of Expenditure Amt. By Amt. By Pol. Amt. By candidate Party others agent

FIRST ANGDIENCE LAMKA POST CONNECT NEWS PAPER

Total

Schedule-4A

intaks of expenditure or campaign through print and executions media including cable network, but SMS or Internet or social media, news 4 mis. TV radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate of by the political party sponsoring the candidate.

5 No hature of medium refectronic print and distant

Name and provider (print electronic (SMS) social media etc. I payable if any

Name and address of address of media agency, reporter, stringer, company or any person to whom charges / voice rathle TV, commission etc. baid-

Total Amount in Rs.

Sparces of Expenditure

Amt. By Amt. By Amt. candidate/ Pol. Party By agent others

NAAA

4				+	- 1			
20								
ñà					-			-
ne								
chedule -5								
etais of property	re or campaign which	s and po	expenditure a	n vehicle si fi	or candidate	s election c	ampaign	
No Regil No o Vehicle &	f Hiring Charges of vi	shicle		No. of Days for which	incurred/	Source of I	Expenditure	
Type of Vehicle		el charges not covered der hiring)	Driver's charges (If not covered under niring)	used	auth, in Rs.	Amt. By candidate/ agent	Amt, By Pol. Party	Amt. By others
1 2	За	510	3c	4	5	6	7	s
: MANCA	6046 2000		-	20	40000)	1-	-
	41147 2000		4	9	18000			
W U4AC			*	9	18000)	F-	
	(13%0 650			113	2/450			-
otal MN 06L	DO CA22-1650		-	11	18150			
WN06	-297- 1650			11	18150			
Schedule- 6			Tatal	****	1337	D		-
Details of expendit of voter's slips	urir on Campaign work	ers agents	1	ates booths :			tations for dis	troution
S. No. Date and Venue	이 있는데 지원이를 하여면 모든데 그 때문에 가장하다라 내려를 들고 하면서 그런 100 (15) 한 10 (15)			Total amt.	Sources of	Expenditure	3	
venue	Nature of Expenses	Rate	No. of workers / agents No. of klosks		Amt. By candidate/		nt. By Pol. rty	Amt. By others
p *	3a	20		4	5	-	6	7
	Eand cates bootis (kiosks) set up for	500	116	56000	5600	00		
	distribution of voter	1000	20	20000	200	00		
2	Campaign workers nonoranium, salary etc			11.1680)			
3	Boarding				*			-
3	Lodging				e.			
	Skill Lal Unski La	on \$000	45	22500				
Total	010,4 =	200		11/10	70			
Schedule- 7				11018	SO			
	of cash fund used for	the election	campaion					

X aluny

25000/ "otal 25000/-Schedule- 8 Details of Lump sum amount received from the party field in cash or cheque or DD or by Account Transfer Name of the Posts at Party OD Cheque no. etc. Total Amount in Remarks, if Liste Cash No with details of drawee Rs. bank BJP Manipux 16.02-2022 BJP Manipux 01.03.2022 RIGS Total Schedule- 9 Details of Lump sum amount received from any person company firm associations body of persons etc. as loan, gift or donation de 5 DD Cheque no. Mention whether Total Amount Remarks Name and address Date Cash No. etc. with details loan, gift or in Rs of drawee bank donation etc. Total Schedule- 10 Details of expenditure incorred on publishing criminal antecedents, if any in newspaper and TV Channel 1 elevision SI. Mode of Newspaper payment. No. (electronic chec ue/DD/Cash (PL specify) Date & Time of Expenses that Expenses that may Name of Name of Date of publishing have been incurred channel insertion/teleca may have been Newspaper incurred in Ra. NIL * D13

X aprilled

X

SI No.	Name of Items	Quantity	Rate	Amount
1	Mineral Water .	3000	10	30000
2	Mung dal	3000	10	30000
3	Bhujia	3000	10	30000
4	Uncle chip	3000	10	30000
5	bhujia small	6000	5	30000
6	uncle chip small	6000	5	30000
7	Peanut	6000	5	30000
8	Mung Dal	6000	5	30000
9	Vehicle	8x3=24	2000	48000
10	Driver	8x3=24	160	3840
11	Skill Labour	26x3-78	1000	78000
12	Unskill Labour	19x3=57	500	28500
13	Chair	2000x3=6000	5	30000
14	Table	10x3=30	5	150
15	Sofa	1x3=3	300	900
16	Gate	2x3=6	600	3600
17	Decoration	4200x3=12600	17.05	216000
18	Sound	2x3=6	5000	30000
19	Generator	1x3=3	2500	7500
20	Bamboo	180x3=540	50	27000
21	Mask	3000	10	30000
22	Sanitizer	6	3000	18000
23	Dry Fruits	900	20	18000
24	Caps	6000	5	30000
25	Muffler	900	30	2700
26	Flags	1011	65	6571
27	Video (resolution No. 2)	1	2000	200
28	Non veg lunch (resolution No. 2)	700	180	12600
29	Veg Lunch (resolution No. 2)	700	150	10500
30	Banner (resolution No. 2)	18	6000	10800

Name

Welly

Aluxan 20/3/22

Schedule 11

Details of election expenses incurred on Virtual Campaign

Si No	Name of Virtual Compargn (Indicate Social Media Platforms Apps Other means)	Same of content creator	Name of media to disseminate message	Total Amount in Rs.	Amount by candidate/a gent	Amount by political party	Amount by others
1		1		- 5	6	7	8
7		NI	L-				

Note:

- In Schedule 5 -
- copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.
- (b) If the vehicle is owned by the candidate his relative agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.
- In all schedules if any expenditure on goods and services, provided by the Political Party, or provided by any person company firm associations body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.
- In Part III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.
- 4 Luch page of the Abstract Statement should be signed by the candidate

Musey